RIAGEMOKRRANBER - ERIYREHR

KR RMNIE FE52B~HHAFE FESH(1227~2./76)

SR A 3B 2B EEE] 538
EEERN K B 4 %5258 Z1:8 %258 %358 %438 %558
(12/27~1/2) (1/3~1/9) (1/10~1/16) (1/17~1/23) (1/24~1/30) (1/31~2/6)
1 (AT ILIH HwEH 1 1 3 0 0 1
R =y 0.01 0.01 0.04 0.00 0.00 0.01
RS™YA L AR E | HEHK 2 1 0 2 10 6
za%Y|l 0.04 0.02 0.00 0.04 0.21 0.13
IR EE 5 WEH 10 8 3 3 1 3
Easy | 0.21 0.17 0.06 0.06 0.02 0.06
ABGRILEL Y | BEH 14 18 9 23 16 12
KEREX | EamY| 0.29 0.38 0.19 0.48 0.33 0.25
R SRS BEH 125 93 144 187 167 161
Easy|l 2.60 1.94 3.00 3.90 3.48 3.35
bk BEY 3 4 2 4 1 1
£ ##%y| 006 | 008 | 004 | 008 | 002 | 002
= |ERO® BEH 21 19 24 31 18 19
=i EasY| 044 0.40 0.50 0.65 0.38 0.40
B AT BEH 0 0 0 0 ) 0
z&2yYy | 0.00 0.00 0.00 0.00 0.10 0.00
EHIERLA BEH 15 23 19 22 20 15
gAYyl 0.31 0.48 0.40 0.46 042 0.31
~NLRUE—F | BREH 1 1 2 2 0 1
Easy|  0.02 0.02 0.04 0.04 0.00 0.02
FATHETRL | BEH 0 2 0 2 0
z&2yYy | 0.00 0.04 0.00 0.04 0.00 0.00
R B I | BER 0 0 0 0 0 0
7 £m5Y|  0.00 0.00 0.00 0.00 0.00 0.00
T ImiasEs | BES 1 3 2 b 2 2
a4yl 0.08 0.25 0.17 0.42 0.17 0.17
G B o 5 1 1 0 0 1 0
zEsyl 0.14 0.14 0.00 0.00 0.14 0.00
7 T P B 2 o 5 0 0 0 0 0 0
z&2yYy | 0.00 0.00 0.00 0.00 0.00 0.00
® |RAITSRM%| BER 0 0 0 0 0 0
23 g=2yY | 0.00 0.00 0.00 0.00 0.00 0.00
E|o3sTmx | BES 0 0 0 0 0 0
FoLmEErO | ExzY| 0.00 0.00 0.00 0.00 0.00 0.00
R E S o 5 0 0 0 0 0 0
@ao1LR) | Eagy| 0.00 0.00 0.00 0.00 0.00 0.00
L TNIUH e 5 0 0 0 0 0 0
(ABD) | EmZY | 0.00 0.00 0.00 0.00 0.00 0.00
T A
AVINIVY B S 76 SMAE2898 13.00BADT—2IZEIKEDTY,
INBRIE S 48 XA L ERMEBELCBYET DT, SHORE
BRALE 12 HEDRRICHELT EFOEIRELLENBYET,
ABTS 7
& i 143




REFMEANIERNBREH-ERAVREHR
SixR . SMHM4E E581./31~2./6)

=
wxiEs| & Om & | B4 |#mEw| Bm | mm | mm | Rt | mm | s |[WE e |FEE
sy | AT LT BEH 0 0 0 0 0 1 1 30110110
ER Em5Y| 0.00 | 000 0.00| 0.00 | 0.00]| 0.09 | 0.01
RSYAILREELSE | MEHK 2 0 0 2 2 0 6l _ | _ | _
=5y 018 | 000 0.00 | 0.18 | 0.20| 0.00 | 0.13
R B e i 3 ML 1 0 0 1 1 0 3 3111 -
Em5Y| 0.09 | 000] 0.00 [ 009 | 0.10| 0.00 | 0.06
ABRIMEL LY | BER 5 0 0 4 1 2 12 8|4l -
KEmEX | EszY| 045 ] 000 000| 0.36 | 0.10 | 0.29 | 0.25
Rt E S & s 21 37 6 33 34 30 161 20121 -
EmEy| 191 740 150 300 | 340 | 429 | 3.35
|/IJE: 7](‘]"5_ wmEH 1 0 0 0 0 0 1 2 1 1
ﬂ Em5Y| 0.09 | 000] 0.00 [ 000 | 000| 0.00 | 0.02
% |FROR wEn 7 0 o 11 1 o of[ ],
= Em5Y| 0.64 | 000] 000 1.00 | 0.10 | 0.00 | 0.40
AT B | 0 0 0 0 0 0 0 211 1| -
Em5Y| 0.00 | 000] 000 0.00 | 0.00]| 0.00 | 0.00
LREHELA H|EH 5 0 0 4 2 4 1511 _ | _ | _
EmsY| 045 000 000 | 036 | 0.20 | 0.57 | 0.31
AR x—F wmEH 1 0 0 0 0 0 1 6 2 _
Em5Y| 0.09 | 000] 0.00 [ 000 | 000| 0.00 | 0.02
RAMETIRE | BER 0 0 0 0 0 0 0 61213
Em5Y| 0.00 | 000] 000 0.00 | 0.00]| 0.00 | 0.00
R |BHmEEES | BER 0 0 0 0 0 0 Ofl 110 1| -
& Em5Y| 0.00 | 000] 000 0.00 | 0.00]| 0.00 | 0.00 '
T Imetemamg | BEH 0 0 1 1 0 0 2l g | 4| -
Em5Y| 000 000 1.00| 0.33| 000]| 0.00| 0.17
HE TR | 0 0 0 0 0 0 off _ | _ 1| _
Em5Y| 0.00 | 000] 000 0.00 | 0.00]| 0.00 | 0.00
B 2 RS 0 0 0 0 0 0 off _ | _ 1| _
Em5Y| 0.00 | 000] 000 0.00 | 0.00]| 0.00 | 0.00
2 |[R1ATSR<R | BER 0 0 0 0 0 0 of1 _ | - | -
# Em5Y| 0.00 | 000] 000 0.00 | 0.00]| 0.00 | 0.00
z;i HSITTH% | 0 0 0 0 0 0 of| _ | _ | _
GFoLmEERO | ERxY| 0.00 | 000 0.00 [ 0.00 | 000| 0.00 | 0.00
Bt BB | 0 0 0 0 0 0 off _ | _ 1| _
ago1LR)  [Em%Y| 0.00 | 0.00 | 0.00| 000 0.00 | 0.00 | 0.00
AT NIVH WEH 0 0 0 0 0 0 off _ | _ 1| _
(ABR) £a%yY| 0.00 | 000 0.00 | 0.00 | 0.00]| 0.00 | 0.00 .
TE R UEBBRLAILELYE
1UINISY 18 8 8 17 14 11 76| ¥
INERIES 11 5 4 11 10 7 48
RHES 3 1 1 3 2 2 12
HBEA 2 1 1 1 1 1 7
& & 34 15 14 32 27 21 143
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FEBERA OERANMER - ERAYRER

R SH4E $E5E(1./31~2./6)

TE mAER = & & Fo% ~54H |~1178 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80/%k~
oy | AT | BER 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ER E=%Y| 0.01 | 0.00 | 0.00 | 0.00 | 0.00 | 0.01 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
TE mAER = & % W ~558 |~1178 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20/%~
RSYALRB S BEH 6 0 2 4 0 0 0 0 0 0 0 0 0 0 0
E=%Y| 013 ] 0.00 | 0.04 | 0.08 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
IRERE B, BER 3 1 0 0 0 0 0 0 0 0 0
ER%Y| 0.06 | 0.00 | 0.02 | 0.00 | 0.04 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
ABEAIMEL LY | BER 12 0 0 3 1 0 2 0 1 0 0 2 0 1
KRERIELR | E~<%Y| 0.25 | 0.00 | 0.00 | 0.06 | 0.02 | 0.04 | 0.00 | 0.04 | 0.00 | 0.02 | 0.00 | 0.00 | 0.04 | 0.00 | 0.02
R B AR #mEw | 161 0 3 22 21 21 13 13 12 6 4 2 14 2 16
ER%Y| 3.35 | 0.00 | 0.06 | 046 | 0.56 | 0.56 | 0.27 | 0.27 | 0.25 | 0.13 | 0.08 | 0.04 | 0.29 | 0.04 | 0.33
n ke BER 1 0 1 0 0 0 0 0 0 0
';; ER%Y| 0.02 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
T |FROK |EH 19 0 4 10 4 0 1 0 0 0 0 0 0 0
A Em%Y| 040 | 0.00 | 0.08 | 0.21 | 0.08 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
R MEATBE BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E=%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
EHEHLA BER 15 0 5 Ji 2 1 0 0 0 0 0 0 0 0 0
Em%Y| 031 1 0.00| 0.10 | 0.15]| 004 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
ALV E—F | BER 1 0 0 1 0 0 0 0 0 0 0 0 0 0
ER%Y| 0.02 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
AT TR | BE5Y 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E=%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
TE mAER = & & Fo% ~54H |~1178 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70k~
| AN RS 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B Em%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.OO | 0.00 | 0.00 | 0.00 | 0.00 | 0.OO | 000 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
T Imiimms | BER 2 0 0 0 0 0 0 0 0 0 0 1 0 1 0 0 0
E=%Y| 017 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.08 | 0.00 | 0.08 | 0.00 | 0.00 | 0.00
TE mAER R Fo% (o) 1~4 5~9 10~14 | 15~19 | 20~24 | 25~29 | 30~34 | 35~39 | 40~44 | 45~49 | 50~54 | 55~59 | 60~64 | 65~69 | 70k~
METERE R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ER%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
SRR BER 0 0 0 0 0
ER%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
x |[R1ATSRMH BEY 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
&% Em%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
T ossUTms BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
GoLmERO | ®=%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
R B BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
@512 | ®=%Y| 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
AUILIVYE | BEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(ABD)| E=ZY | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00




